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SUMMATIVE ASSESSMENT -1,2013 ~ ~¢(~ L

MATHEMATICS
Class - X

Time Allowed : 3 hours Maximum Marks : 90

General Instructions:

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D. Section-
A comprises of 8 multiple choice questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-
D comprises of 11 questions of 4 marks each.

There is no overall choice in this question paper

Use of calculator is not permitted.

SECTION - A

Question numbers 1 to 8 carry 1 mark each.
{

The decimal expansion of %2% will terminate after how many places of decimals? !
() 3 B) 4 © ST
For’a’ and ‘b’ being coprime, then a2 and b2 are : E B
(a) may or may not be coprime L
(b} never coprime w 4
{e) always coprime e
{d) prime numbers N iy '
: :-1 \ [ 1’? “
Which of the following pair of linear equations has no solution? ¢ Vil 1
(a) 3x+2y=5; 2x+3y=5 % =
b)  8x+15y=14; 4x+5y=7 R |4
(b) y 4x+5y A & A
{c) 10x+21y=17 ; 20x + 42y =34 %/ 1
?)/" dx+3y=9; Bx+6y=19 L~
3. 43 +
Ifax+by=a"—b" and bx +ay =0, then the value of (x +y) is 0 1
2 7 '
(@l a-b () b-a (@ a=b (@ &+b b o
i 1
e i
In A ABC, AC=24 cm, BC=10 cm and AB=26 cm, then : N e 3P
0 o X &
(a) ZB <90 (b) ZC>90 o ”
o & * % v )
(€@  2ZC=9% (d) £B=90° ™ \“ \)Q}, A
i K o -
& A
‘ﬂ :h: ¥ -F /.'/"L
e Oy N
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T 2 Bl al-s
{sin 8 +cos & +cot B) is equal to : : e e
Ay cosec f (B} tan @ /. j,f;?"‘ ;f{ .

(C) seczﬁ (D) 1

If C is an acute angle in a right AABC, right angled at B, then the value of sinC + cosC is equal
to.

(<) less than one (D) greater than one

14

@A) 1 B 2 1 mgf/ﬂ
/e

If the 'less than' type ogive and ‘more than’ type ogive intersect each other at (20.5, 15.5}, then
the median of the given data is’:

(A) 360 By 205 i) @ 155 (D) 55

SECTION - B J

Question numbers 9 to 14 carry 2 marks each.
A rational number in its decimal expansion is 1.7351. What can you say about the prime

factors of q when this number is expressed in the form £ ? Give reason.

o
Can (x—2) be the remainder on the division of p(x) =7x+3 by any polynomial g{x) ? Justify
yOUur answer.

Find the quadratic polynomial whose zerces are 2 and 22 .

In the figure, AABC is an equilateral triangle in which AD1BC. Prove that 3AB2=4AD2

B c

Show that l—usll-} i =7 Jg ;
cos 60°

Form the cumulative frequency table from the following data :

Marks 1 [\Ju[_}ﬂ:ﬂ_er of stydenl's __
lessthan10 |2 ° ¥

lessthan20 |12 N
lessthan30 [57

less than 40 | 57
i less than 50 | 60

Write the frequencies of the classes (20 - 30) and (30 - 40)

1

bk




SECTION - C

Question numbers 15 to 24 carry 3 marks each.

}9/ Prove that v2 + /3 is irrational, 3
/ The sum of the digits of a two digit number is 12. The number obtained by interchanging the 3
digits exceeds the given number by 18. Find the number.
/ Find, for what values of a and b will the following pair of linear equation has infinitely many 3
solution :
dx+5y=2;(Za+7b)x+(a+8bjy=2b-a+1.
1}/ Solve for x and i: 6 (ax +by) =32+ 2b; 6 (bx—ay)=3b-2a. 3
019 In the given figure PQ||BA; PR||CA. If PD=12cm. Find BDxCD.
A

i e ¥ S i 2 = i
s . : : F:
/ ARBC and APQOR are two isosceles triangles in which ZA= <P if M} = i, find o where
ar (APQR) 16

ADLBC and PSLOR. e

— e - - s T _——

1 24 2 3
./ Prove that g ¥+ cots 1.

1+ tanz..i'; 1+ cﬂtzﬁg "

2}/ Prove that : 2(sin"0 + cos’#) — 3{sin’ + cos'#) +1=0 3
/23/ Find the median of the follf_:wing dats 3
[Classes  [5-15 [15-25 [25-35 |35-45 |45-55 |55-65 |65—75
| Frequency [6 10 16 15 24 8 7 |

24 / ’ THe distribution of weights (in kilograms) of 60 workers in a factory are given. Find the mean

weight of a worker.

Classeswtinkg,  |40—45]45-5 | 50-55 | 55-60 | 6065 | 65-70 |
Pati

Number of workers ()] 5 8 ETEmE TN T 4
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Question numbers 25 to 34 carry 4 marks each. \\ e :
02 A class of 20 boys and 15 girls is divided into n groups so that each gl’f;.l has x boys and y 4

girls. Find x, y and n. What values are reffered in a class ?

}9/ Obtain all the zeroes of the polynomial x* + 2x3—7x2 —8x+ 12, if two of its zeroes are 2 and 4

-2,

}/f . For what value of k will the pair of equations have no solution ? '*’r< 4 4
WY o? | ot
(k—1x+(k-Tjy=2k+1 e o “'ﬁﬁ" g

i W \)r 1
: u‘\/ v % /5‘1’
/Zﬁ Ina AABC, BD1AC and AC — AR’ =BC2 prove that BD* = AD x DC , Tg" _ '

@9 In an equilateral triangle, prove that three times the square of one side is equal to four times 4
the square of one of its altitudes.

E If tan@ = E, show that (?M) = § X 4
21 1+ sin + cosB 72 V.
. AN
? Evaluate : H'., b T 4
4 cot?60° + sec230° - 2sin245° I \TA
sin® 60° + cos245° N j -~
?/Zi_ If sin = %u;-—: and d > 0, find the values of cosf and tan. o o
vo© o+ d
?' Compute the median from the following data : Soe | B 3;'3,—\"#
- — = 2 | T
More han 15010 s | U [Tl g
| Oore than El,n @ |
;_Mﬂre than 130 | 27 ;.:__ %4 /"J}’_-_ 4__
| More than 120 | 60 Zaladl 3. | L
More than 110 | 105 seca | || vy,

More than 100 | 124 | cote [\ 3o |y
More than_‘;l.:l__l_l"-l-l ¥
[ More than80_| 150

nd mode of the following data:

Find mean, median a X o
\ Tal 120[120-1
tgj s (0-20 20 - 40 .40-6{}{6{1—30 lﬁﬂ-mﬂ éﬂﬂ 0
?asie‘fﬂc‘-"ﬁ g (w1 16 . Tead—
\Frequency|b 15 :@
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